2020229 (1) a1 H 12R BHERH

o EEy ) "
[:F] /L‘_rl\ 12 16 00 le aﬁ;fﬁ“ 1 H§7 5 (:EA) [;bi] = goom 2B Z;l 7 C ;?ﬂgﬁgfﬁg&uq\531(){0163551027534 5 445 4 ’i‘}
PELS 2 Py H = SAL BT 1:23.3 L—Z 5y FHEE MM 19 NHM 8 MMS 4 HHM 3 Srart
R s | PRER (EEMEE TR AR TE=BER B BBE (&, F. B) Bt MTE=L—2% L—71>7 S5 3iH= %IIE EH - BE - AR A
#|E| & E % B F | MEMEZT[E zroi2%] & 2 40 (MTE=FBHE-EH BF-FE 2. 3. 4AEBEN STE=EM - I—X - BHERKE 244 L£AU3
B 28| B 2 |euEE/AE|m  ARsr | @ 2 10000 [67H = L—RN—R§IF - oPRY - 3F (LY, WFH, SELY) BIEE3 L EBIRE A)-I~4f8 - 3E~Af - 1&3F(5~1) +Y 3 FIEE
|8 % | BoOR) WE | 2 m M | 2140085 |sim & B 2 }gggm L—REYBFEAL - SBEDNLYIFEAL > 0.5 DBAKRT HIB=1EE$2%E GEE) 1. 2. 3EEOME
EE/BE BryxX | B ® | 13ARM| & ZEFE| B3 50 B WAE 38T 4R 53R
FOTAANIN 4 [ 53 A |%&Z0.000 [FE00.0.1 20021654 MNT/NAEI0[19.17.10 42 WMN3iaEs4 | 19.10.19 47 Tmmdgms [ 19.06.15 42 T aess | 19.05 19 47 T 3maRi0 |
FAHN— R4 B | 5§ 430-440 | mE 1001 [ F 0000 | 1BEI SR 18952 | 1Y 5 R 18952 | 189 5 R 1952 | 189 5 R 18952 | R REF
55.0 .162| 7 54-54 | BRZ0.1.0.1 | F=0.1.0.0 | 2 148E12% 8A 4 |16 168HI6HI4N A5 |10 1888 4BNIA M |8 1288 4% 4A 1 178105 3A
1] atl #xHn—r50k BEE | mAk®x NE0.1.0.0 | FA0.1.0.2 | 440 +2 FEFHE 54 @O 438 0 FR— 52 Q@@ | 438 +2 HEE 53 4360 iRBR 52 2 @@|[436 2 FHR 54 Q@
(FHHRREFA ) =@ . 250| R 1224@ 20200 | F/N1.01.2 [1200n 2= F 1:11.9 36.5 | 1800m = E 1:50.5 37.8 | 1600m 2 %4 1:36.8 35.7 | 1800m = # 1:51.3 35.3 | 1800m = R 1:47.7 34.6
#A77-L(FEH) [%]| 1.21.5 |[Z 0101 [2Z1215 ]| @ - SSS 34.7-37.1 355 (4) | MMM 36.2-36.0 532 (16) | MMS 35.8-35.5 333 (8) | SSH 38.0-33.8 532 (9) | MMM 35.4-34.8 444 (7)
RigT 128575 | #1%220580 | £ 0.0.0.0 | 18 0000 [ 44§ -7(0.1) FEE [FIMTT-1Q2.0  KESE [ BT 4AA0.0) EEE JIRE AT EEW | I 0.2) bt
O—FAFa7 4 |58 B ::::: [H=20001 [FE1.000 [19.11.10 45 MMN3ES4 | 19.09.22 49 10 4fx#7 | 19.05.18 61 SEERY | 19.05.05 49 -l 1gm;m4 [ 19.01.13 39 - 1mamd
OA¥)LY 44— |BUE— | B 4646 | 220010 | F 0000 1B SR %52 | 17 5 R 18932 | 50075 5005 | REEF REEF | REEFI REEFI
“ |55.0 .113| F 54-54 | fRZ 0002 | F=0002 |13 1658 1% 9A 10 188 THENIA 3 108 1% SA BA [ 1 158E14E 8A k5|9  16EEIOBIOA
112 O YLty s LR B | tREE N 0.0.0.1 [ F750.0.1.2 | 456 -6 #ILFD 53 ©O@D | 462 +16 RFHE 52 @ | 446 0 RHH 53 @@ | 446 -4 LT 54 QO | 450 +6 FMHEE 52 DD
(v RYHYRIR) TR . 195| HE 12250 | 20000 | F/00001 |1800m & B 1:49.9 36.6 | 1600m = £ 1:33.7 33.9 | 1600m = B 1:34.1 34.0 | 1400m Z £ 1:22.5 36.0 | 1400m % & 1:28.3 40.1
#HB77-L(F k) [#]]| 1.0.1.6 |2 0001 [2Z101.5 | -+ - MMM 36.2-36.0 313 (13) | MHH 35.7-33.4 313 (9) | SWH 35.9-33.7 443 (3) | HMS 33.9-36.6 435 (1) |MMS 35.2-38.9 333 (11)
(A) #EV-2F-2 15575 iOSEWiO;EO 240001 | #mr 1002 ¥ M7 7-01.4) KEX //7»777 (1.5 FEL | 42T IN0.7)  #kEE | v Ib-1 (0.0) zii‘: Harz/n(1.9) =k
SwAETIA T4 [ 60 ] 20000 | F090.0.0.0 | 19.10.19 44 TWN3%na3 | 19 TN 2LE3 | 19.08.03 TALIES | 19. 05, | 03, 25106
FATFEY—5 EEEA % 162462 | 2= 0000 |F 0000 | THYSR 1851 JLZ‘VﬁEIJ A | 1Y SR 185 -7y
55.0 .151| fr 54-54 | PR 0.0.0.0 | F=0.000 |12 188HI3H 7TA s |5 1088 6% 5A 1 1w 9E 3k s |8 smiE2A A |13 Tem 1% 1A BA
A 3| A3l DFHUR 28 | FERX NZ0.0.0.0 | F50.0.0.2 | 462 -8 A#EE 51  B®| 470 -4 FIAE 52 @@D | 474 +14 HEE 52 BBE | 460 -2 =HE 54 @OG | 462 0 BB 54 WOD®
(TheLeopard) %@ 167 20000 | F/N1.0.0.3 | 1600n = # 1:37.1 35.7|1800m = # 1:51.6 35.6 [ 1800m = B 1:50.5 38.6 | 1800m = B 1:48.0 35.7 | 1600m = B 1:35.9 35.9
/-4 77-h (R T [£]] 1005 [F 1001 [£21005 | ---:.-- MMS 35.8-35.5 233 (8) | SWH 37.7-35.4 333 (4) | MHS 36.0-36.3 511 (11) |MHS 35.9-35.5 313 (8) | HMM 34.3-35.8 254 (11)
DMMb" )-L957" (k) 70575 | #0%12£0580 | £470.0.0.0 | %84 00 0 1 | $4vF Ab-A(1.3)  ZZEE | Ly A7 (. 1) SHE | 4-71Mky -5 (2.5) EEE | -tvYab(1.8) KES | Wy Wik (1. 5) KEE
R—=ANRE 4[58 AA: - |&20000 | FEO011 zo 02.75 53 T 135 [ 19.12.01 43 T 58HL2 | 19.11.16 49 T 3faBb | 19.09.07 67 T 4chill | 19.08.17 47 w2908/
HIZRAUS UK $HR— | B 408-408 | 5 0.0.0.0 [F 0000 | 1HY SR 1532 | 1Y SR 1552 | 1Y SR 18932 | %36 S Gl 175X 185532
N 55.0 047| fr 53-53 | BRZ 0000 | F=0000 |5 1638 T&I6A 10 158E13BIOA s+ |11 1638 2B1A BM |15 1588 9&15A 8 1338 5B12A
2 e YIREVY 4—> B | Bl NE0.0.0.0 | F0.0.0.1 | 404 -4 FiR— 54 @@ ] 408 +2 FR— 52 @D | 406 -8 HILT 53 QDD | 414 +6 FR— 54 BB | 408 0 FR— 51 ®9
(TLa Y KL/sH—) £ 088| B 1218©) | 2 0.0.0.0 | F/01.0.0.2 | 1600m Z B 1:34.0 35.2 | 1800m & B 1:57.0 39.3 | 2000m # B 2:02.3 35.5 | 2000m ¥ R 2:00.9 35.7 |2000m & B 2:00.2 34.4
9IREYI7-h (OB (2] 1.0.1.8 [ £ 0003 |£Z1.01.7 | -®------[HIS 34.5-35.7 335 (3) SMM 38.1-39.1 253 (9) | SWH 36.0-35.3 253 (8) | HMH 35.5-34.0 252 (15) | HWM 35.0-34.4 324 (7)
7 70675 | #0%120:80 [ £ 0.0.0.1 | 1@ 0002 | A7/914(0.2) SEEE |7 VITUMY-(1.5) Sk | aapyab-(1.4) S | oo A-(2.6) %Sk | Yvh 74-1-0.8) s
BE} 5 [ 52 O A |&20000 | FrEO01.0.1 [19.00. 29 51 TWA4Bx#9 | 19.09. 15 52 T 14Wz@4 | 19.09.01 43 TN 2/N&12 [ 18.00.15 54 T 45783 1e 09.02 62 T2/ &12
AL a984%H HBHAR | 5 488-492 | mZ 1.1.00 | F 0000 | 1BV SR 18592 | 1 SR 1552 | 1Y SR 18552 | 50075 50075 PXES 50075
g 55.0 .195| Fr 54-54 [ PEZ0.0.0.3 | F=0001 |9 185 3B 6A M |5 1688 2FI2A £#A |16 1838 5% 9A 9 128BI2E 5N K4 8 165813% 4N 4t
3 B J—7 FL—3X B | migz N 0.0.0.2 [ F71.00.1 |498 +2 FFHK 52 DD| 496 -8 HHK 52 DD 504 +2 HFEH 55 @@ | 502 -6 iEeptE 52 DD | 508 +20 Eepg 52 DDD
(FLYFFELT 1) Z® . 109| BRE 12120 | 20001 | F/00002 |1400m & B 1:21.2 35.5 | 1600m = £ 1:33.3 34.2 | 1200m & = 1:11.8 37.9 | 1800m = £ 1:48.5 35.2 | 1800m = & 1:48.2 35.8
R 15 CRSATET) (]| 1.1.0.7 [£0002 [£Z11.05 | -------- HWH 33.9-34.8 533 (16) | HMH 34.9-34.0 533 (12) | MMS 33.6-36.7 522 (17) |MWH 36.2-33.9 532 (1) | MMM 36.2-35.2 533 (13)
AT 77575 | #05:0%2080 [ £400.0.2 | w0102 | FHT 0.7 EESE | 3417 4-50.2) FE%E | 7 Yyyr9d(1.5)  %3E% |7y (1.3) EEE | M UL 4-(0.6) EE%
PEEREER 5 | 46 B ;... |£20000|FmM@0.000 20 01.26 45 T 1/A4 [19.11.07 14 % @@ [19.10.17 13 * @@ |19.10.03 15 @M@ [19.06.20 15 & MEH
W =7R=" L R B 473-496 | m£ 0000 |[F 0000 | 1Y SR 1952 | C3—3#% 3 |C3—3#% 3 ca_aﬁg G |cC2=4&% 2
— /= 55.0 .110| fr 54-55 BRZ0.0.0.0 | F=0.0.0.1 | 14  168810&15A 1 1088 7% 3A 4 |4 1088 9% 1A k4| 2 08 5%& 1A 1 1088 9% 4N K4t
&l 6 YIhYtEAL—> HE | sEEs INZ0.0.0.1 | F750.0.0.0 | 466 -7 EJII* 55 @ | 473 -3 TRE 54 Q@D | 476 -2 HRFR 54 @D | 478 79 wEFR 55 OOD [ 487 -2 JIRE 54 QRD
(F5RTH—) FE 143 F£0.0.0.1 | F/00.0.0.0 [ 1200m = F 1:12.8 37.2 | 1400m 4 B 1:32:1 41.5[1400m & B 1:34:1 42.3 | 1400m 4 B 1:34:1 40.9 | 1400m & B 1:32:3 41.2
RG77-4 (RAET) [%]] 3214 |Z01.1.1 [£%0001 | - @ --|SsS 34 4-36.8 213 (6) |MMS 36.4-41.8 534 (5) | MMS 37.5-41.9 543 (5) | MMM 39.7-40.6 533 (6) | MNS 37.1-41.4 444 (4)
BRIRAE A0 ,LzszsﬁoLo £4321.3 |48 0001|517 Y-1(1.6) EE% | $5/22°52(0.0) S | 7 IME -0.7) =B | bMby7 n bA(0.3) ks | 4507 UE 95 (0.0) EiBE
T4 FI—LEF 5[ 55 %2 0014 | FO0.0.1.4 | 20.02.08 54 -~ 23RS | 20.07.18 51 Juu 1mam6 | 19.11.09 45 -~ 5m#ER3 | 19.07.21 50 Wmm3ms | 19.07.07 53 dmm3mm4
JIRETRLF HEY £ 494 w8 [ZZ1004 [F 0000 | 1HISR 1B TSR R | 1Y SR R | 1B SR R | 1BV IR IR
55.0 175| fr 54-54 | BRZ 0002 | F=0000 | 3 153 5& TA 4 " 168E12E10A 147 1688 4%10A M |11 1538 9% 9A 5 1838 1% 6A BW
4 Jz7Y—TLR B | FEBE | B8 12083 | 1 0.0.1.0 | FA1.0.1.6 | 504 -4 HEL 53  @D| 508 -4 HEL 53  ©O | 512 +8 #AiLdk 55 504 -4 ¥AWEL 55 @@ | 508 -12 #AWEL 55 @D
(FLYFTE2LT4) FH 000 BB 1208® | 2 0.0.0.1 | F/00.0.1.0 | 1600m = B 1:34.2 34.9 | 1600m = B 1:36.7 36.0 | 1400m & B 1:26.7 38.7 | 1400m = # 1:22.0 34.7 | 1400m 2 # 1:21.4 35.0
FUE A 77-A(BEED (1] 10311 | 20013 |22 10310 [ --® -@--| MM 35.2-35.3 345 (4) | SNS 35.8-36.0 324 (9) | MMM 35.2-37.2 432 (15) | MMM 34.8-34.7 324 (10) | MHM 34.3-35.3 344 (9)
AR ERKERE 14057 | 0% 1320580 | £40.0.0.1 | 28 1011 | $4/y0%2(0.4) SfEE | 7179 00.7) i%% NN 2 1)  sekE | vh52/-4(0.9) sz | A)-4-409 (0.3)  EEE
o—FAFa7 H5 [ 54 B[ .. ... |[BZ20013 |FM001.2 200216 53 MMI/NAI0 4ch T9.11.30 54 TWAm1 | 19.10.20 b8 MM 35ad | 19.09.29 b4 1o 4Bx#9
O—RK4ES= BB | K 462-472 | HZ0.1.0.4 [ F 0.0.0.0 15%’7 S 18933 1»#77; 1Y SR 18952 | + BETHER B2 | 1Y SR 18932
7= 57.0 .029| fT 55-57 BRZ0.1.0.2 | ¥=0.00.2 |7 1456 8% 1A A W |5 1658 1& 9N |IW |7 185815%& BA 4 |5 18EAT4E10N 5}
Ly 8 LT h—=\0L HE | TEEE | BB 12460 | 12 0.0.0.3 [ FX1.2.0.10| 476 0 BEE 57 @@ 476 0 &mx 57 @6@ | 476 +6 IR 51 @A®| 470 -6 AR 57 @@ | 476 +8 NIFK 51 @D
(Giant’ sCauseway) FEH .000| BRE 12106 | 2 0.0.0.1 | F/00.0.0.0 |1200m & & 1:12.2 36.7 | 1600m = B 1:35.1 34.6 | 1600m = E 1:34.7 34.2 | 1400m = # 1:23.0 35.7 | 1400m = B 1:21.0 34.3
HA7477-h (FOF2HVET) [£] ]| 1.21.16 [ £ 0.1.05 [2Z 12115 | @ v -+ SSS 34.7-37.1 335 (8) [ MMM 35. 8-34.7 324 (12) | MMM 35. 7-33.9 423 (12) | MMM 35.2-35.5 433 (10) | HWH 33.9-34.8 225 (3)
(#) B §-2937° 171575 | 21 izioﬁo 240001 |18 0003|115 -3(0.4) FeESR [V AN UE0.6) FEBE | N ATYT0.8) SeRE | /-0 95(0.4) BB | M98 (0.5) EER
Ry J—oE—O— EZa Wi ElIEE Z20001 | FPM0001 [19.12.08 53 Tom4mhm4 | 19.11.00 57 Wemb@Em3 | 19.10.19 53 MMM3Z153 | 19.02 16 61 Wwm &=/ [ 18.12.09 1 SRR L
AL BEEK | B 140-260 20000 [F 0000 | 1Y 1552 | 1Y 5 X 1552 | 1Y SR 18932 | 50075 5005 | BT 2N 6l
55.0 .182| fr 52-54 [Pz 0.0.0.1 | F=0.000 |5  18EHI3E 2A s |5 1888 7E 4A 2 1838 9% 1A 3 1138 4F 2N 10 18EEI7TEI2ZA A4t
5[9(@ [2—z=7x7+ BEE | AMER | BB 12130 | 12 0.0.0.0 [ FA11.1.2 | 454 12 I 54 QM| 466 +6 JIIERF 54  ©O | 460 +14 #ILFK 52 @D | 446 +6 kAtR 54 ©@ 440 0 kK 54 @D
(Souveni rCopy) £ 180 &B 12136 | 2 0.0.0.0 | F/00.0.0.0 | 1400m ¥ B 1:21.3 34.5 | 1600m = B 1:32.9 34.7 | 1600m = # 1:35.8 34.5 | 1600m = R 1:36.3 33.7 [ 1600n = K 1:35.0 34.6
-4 v77-L (R FHT) [£]| 1.1.1.3 [£001.0 [#Z111.83 ] --v0.-. MHM 34.3-35.1 255 (4) | HHM 34.8-34.4 443 (12) [ MMS 35.8-35.5 335 (1) | SSH 36.3-33.8 334 (4) | HMM 34.8-35.0 145 (5)
() o7 —b-yuf 13307 | 051321380 [ £470.0.0.0 | #mir 0110 | 7" hrH-0(0.4) HKEE | 713 (0.6) EEE | BT aRL(0.0)  EEE |9 T 9n(0.7) EEE |5 /08y -0.9) BiBE
L TA S — TS | 54 C o | B2 0001 | FME00.1.2 [19.12.21 50 o067 | 19.17.30 55 Jm4ch1 [19.09.14 59 Tom4cpl3 | 19.08.17 59 w28/ [ 19.06.16 51 T0m 356 |
B EFD HERN | B 464-478 | HZ 0000 [ F 0000 | Fv KL 1952 | 1Y 5 R 1952 | SRR 18932 ¥ﬁ% A 18952 | 1Y SR 185532
55.0 .076| /r 54-54 | BRZ0.0.0.0 | ¥=0.003 |15 16g&I5%E 5A k5 | 3 185IOE 3A 3 1638 2% 6A BN 1858 9E1IA 7 15EEIBBUIA 4
5110 BULUTTIF B | AMIERE | BB 1204@) | 12 0.0.0.1 | FA1.1.2.3 | 478 +8 AEAK 55 @O®| 470 -6 AMIE 55  B® | 476 +6 AEEK 55 OOD 470 +6 AT 55 @[ 464 -8 BEEE 55 @@
(MoscowBal let) £ 189 BB 12040 | 20,001 | F/00.1.0.3 | 1600m # B 1:36.2 37.1 [ 1400m = B 1:20.4 33,7 | 1600m = B 1:32.9 34.4 | 1400m % R 1:21.3 34.6 | 1400n = & 1:22.7 35.3
#HAI7-L(FREH) [£]] 12311 21003 [@Z12300 |- v0n-- HHS 33.8-36.4 153 (15) | HHM 33.9-34.9 255 (1) |WHH 35.0-34.7 334 (5) (MMM 34.2-35.1 325 (3) | HNS 34.7-35.4 334 (5)
S 2670. 7% | #05£320i80 | 24 0.0.0.0 | %o 1125 | =y/hv4) (2.2) EEE | HFTy7 0.1 EEE | 0k (0.3) sEEE |13y 0.4) Sk | M-Mvh0.7) KEEE
FUTARZXE 5[ 57 ZF[ - :::: [#20001 [FM0002 [19.11.00 46 WeNbHm3 | 19.10.06 53 T0m4mab2 | 19.09.22 53 T 4Bx#7 | 19.08 11 51 TALBE6 | 19.06_22 55 0 1EEE3
J—BY RFAYR sEtE— | B 416-416 | =2 0003 [F 0000 | 1Y SR 1952 | 1Y 5 X 1552 | 1Y SR 199952 | 1Y SR 18952 | RAEREERI 185932
55.0 054 fr 54-54 | BRZ 0.0.1.1 | F=1.0011|15 185 9BI1A 6 1558 9B10A 3 183 6BITA 7 16EBUENA 7 1288 8% 8A
1 FLat=3—3 25 | HAEX NZ0.0.0.3 | F750.0.1.2 | 442 +6 ER 52 Q)| 436 +4 IRFHIE 54 QW) 432 +6 MHKA 52 GO | 426 +10 AFIE 55 @D | 416 +4 MEE 65 OO
(RFAT—LF) E£% .095| BRE 1218@ | ®Z 0001 | F/00001 |1600m & B 1:33.7 35.7 | 1600m = £ 1:35.2 34.1|1600m & B 1:33.0 33.8 | 1200m = £ 1:09.7 35.6 | 1200m = # 1:10.9 36.6
2105 B O [%]] 1.0.1.19 [ £ 0005 [#Z 10016 | ---vvn-- HHM 34.8-34.4 532 (14) | MSH 35.1-34.4 324 (5) | MHH 35.7-33.4 433 (7) | MHM 33.9-35.1 533 (15) | MMM 34.1-35.9 533 (9)
=K 19575 1119e0§0,so £40.0.0.3 | #mir 0000|744y (1.4) EES | W77 9174-0(0.4)  BEE | yIN57 (0.8) S | A)-r-7 Wik (0.7) Sesesk | 57 /00 4A7R(0.9) EE%
T/ oox T4 5 [ 54 5 Z20101 |FM1.205 |19.08 17 55 W 28nm/ | 19.03.10 53 MW 2hm2 | 18.10.28 52 WMAmm9 | 18.09.02 55 M 28812 | 18.06.23 b9 Inm3mm/
EFLA K R ﬁ 152-460 FHZ£0000 | F 0000 ¥ﬁ§éEﬂ Lo 18932 | 50075 500% | 5005 5005 | 5005 5005 | 50075 50075
T 55.0 .165| /f 51-54 | BRi£0.0.0.0 | F=0.0.0.0 1858 5&14A 16 18EE13&12A s+ |15 1838 6% 9A 12 185I5% 4K 4+ |5 1638 8% 6A
12 ESHILAY B | MIEE— | &E 1230@| /120000 | 750003 464 -10 dLATR 55 @@ [ 474 +16 2% 55 @O | 458 +2 1Lk 53 GG | 456 +2 EATE 53 @@ | 454 +10 L 52 QO
@17 5" 7 585m) 3% . 000| B 12200 | 2 0.0.0.1 | F/00.0.0.0 | 1400m = B 1:22.0 35.6 | 1400m = # 1:23.8 36.4 | 1400m = E 1:22.7 34.5 | 1400m ¥ B 1:22.8 36.1 | 1400n = & 1:24.8 359
it HBA (SATET) [%]] 1208 [£0002 [£%1208 | -------- MMM 34.2-35.1 423 (13) | MMM 34.8-35.3 432 (15) | MWH 35.6-33.7 433 (15) | MMM 34.7-35.2 533 (18) | SSS 36.3-35.7 533 (7)
(&) s 1386.475 | %0%E320580 | £40.0.0.0 | #smt 0004 J125%° (1. 1) L |77 Ih(1.6)  EEE | R UT475(1.3)  SEEE [4-LTH 43V (0.9) BEE |9uh YR (0.4) EkE
D—5 T —& HA[67 B[O ::: |£20002 | FE0000 |20.02 15 6 6 T /A9 | 20.02.08 67 W 1/NAT | 20.01.25 56 MW 1/v@3 [ 19.11.16 52 WM df@&5 | 19.11.03 53 3EE2
BHEIALS JIRFA | B 432-444 | mZ0.0.0.1 [F 0001 188533 jciEE#‘-?EIJ R | 1B SR I | BRIBRRE B [ 1BV SR 1
K4 510 .152| FF 54-57 | IRZ0.1.1.0 | F= 0406 |2 15‘510& 20 1788 1% 6A 2 " 16EEISHEITA Ao |13 1688 1% TA B|A (4 168 5B TA
1|13l o | 24/ #0—% B | xmE NE0.3.0.0 | FA0.0.1.0 | 444 +2 FHE 57 Q@ 442 -2 EHF 51 (@D | 444 +6 EHZF 56 438 0 ZME 56 @D 438 +4 EME 56 GO
(RF1=H7—R) R 169 EZ0.0.00 [ F/00.000 |1200m ¥ B 1:10.2 35.0 | 1200m ¥ B 1:08.7 33.9 | 1200m = # 1:10.1 35.9 | 1200m ¥ B 1:10.8 35.0 [ 1200m = R 1:09.4 34.1
I /77-L (EEET) [#]] 14212 | 20412 220417 | -@2-@- - -85S 34.3-35.7 335 (6) | SSM 34.0-34.7 245 (4) | HMS 33.0-37.0 155 (4) | SWM 34.6-35.2 154 (8) | MSH 34.4-34.5 335 (1)
AKEF 2830.3%5 | #05£3%£2;80 | £41.0.1.5 | #1380 104 [ 5uF 4-5-(0.2) EkE | AR 47179-(0.0) EES | MY 49747 0.1  KEIB |V 7Y 3(1.0) EBB | 78 U4-(0.5) HKEE
O—FAFAa7 T4 [ 57 B[ |&20000 [F090000 [20.0200 57 WM /NA8 [19.10.27 55 3@ | 19.10.06 53 Tuidmab2 | 19.00.15 62 T 4lsd | 19.09.01 49 T 2/NAT2
ELS—F BERA | B 426426 | mZ0.01.0 | F 0000 | HASR 18552 | 34500 1552 | 1Y SR 19952 | 1Y SR 18992 | ER KB 18553
< 55.0 .077| /r 54-54 | FRZ 0003 | F=0000 [6  13EI1E SN s |7 1338 1% A ®|M | 3  158H14% 2A A5 |6 1638 8% 6A 11 16EE14% OA 5t
1|14 a2l 75>Fvzo€nL B | REFA IE0.0.0.3 | FA1.0.1.5 | 428 -8 G 54 DOO | 436 +2 #1853 506|434 +6 alizh 53 @D | 428 0 |HIW 52 @D 428 -10 FULH 52 BRD
(FIRRTFEHIN) FR 198 20001 | F/00.0.0.3 [ 1800m = B 1:48.4 358 | 1600m = # 1:36.8 34.2 [ 1600m 2 B 1:35.0 33.9 | 1600m = B 1:33.3 33.4 | 1800m % F 1:51.2 36.7
EA EEGFOENED  [E]| 1.0.1.9 [ 0002 221019 | @ - MMM 36 5-35.4 423 (8) | SSM 36. 5-34.4 254 (5) | MSH 35.1-34.4 335 (3) | HWH 34 9-34.0 345 (2) | SWM 37.4-35.7 313 (9)
(#%) b o0-VATA 87575 | 0501580 | £470.0.0.0 | &2 1013|5577 Uv) 7b-(0.9) ksZE | /-7 »7-2(0.4) EESE | W27 Y274-4(0.2)  BEE | 3917 4-5(0.2) EEE | SN -7190(1.9) KEE
FALIFSw— 35| 58 TAA: ;. |#20102 | FM0203 [19.12.15 53 MM4hs6 | 19.11.30 56 Wmm4mm1 | 19.10.05 51 WWmA4mmIT | 19.08.17 55 w2947 [ 19.06.16 55 T 3Rm6
wH R/ aAy EEM= | K Mo462 | 20002 | F 0000 | THEY SR 1R | TV SR 18R | TBY SR 1R %ﬁ B | TSR 1R
J 55.0 .182| /f 54-55 | PR 0000 |F=0001 |8  18EIIE 2A 2 18EETIEIOA 8  173E10%E A 1858175 8N Ksb | 2 1588 2% 8A W
T|15| a | yysak BEE | BAR £B 12032 | 182 0.0.0.0 | F750.0.0.1 |466 +4 FEM 55 @D | 462 +2 FM# 55 D | 460 -8 ALFE 55 468 +6 FLEZE 55 Q@[ 462 -2 HED#M 55 @D
(Amer i canPost) BL [ %% .174| £R 12032 | % 0.1.0.0 [ F/,0.0.0.1 | 1200m % £ 1:09.1 33.4 | 1400m 3 & 1:20.3 33.7 | 1400m ¥ B 1:21.0 35.0 [ 1400m % & 1:21.9 35.3 | 1400m ¥ % 1:22.1 35.4
=4 77-h (RTFHT) [£]] 23011 [£0002 [£%0208 | -------- SHM 34.4-34.4 335 (4) | HHM 33.9-34.9 255 (1) | HHM 33.9-35.0 514 (9) | MMM 34.2-35.1 323 (12) | HMS 34.7-35.4 534 (6)
() $h3-Rbon - 67575 | #0542 1580 | £42.1.03 | %+ 0106 | $3 97{4b(0.3) EZEZE | +yvF3-7y7 (0.0) ZEZERE | 2 $15-2(0.6) KEE | 1285 (1.0) SFeSs | 2M-tvt(0.1) Pk
FL5AN—F H6 | 58 B[ :::: . |[&20002 |FH1002 [19.12.08 55 Tom4mm4 | 19.11.16 50 Jumm3feib | 19.08.10 47 Joui2gmmb | 19.07.20 52 Lo 2iag’ 19 0630 55 12182
SywEk— REE B 474-484 | ®Z 0000 | F 0000 | EHEH A | 1BV SR I | 1BV SR I | 1Y SR IR | 1Y TR 1R
57.0 17| fr 55-56 [ BZ 0000 | F=1013 |12 1638 1HI5A &M |7 1638 3% 8A M |10 1538 1% 9N BN |5 1458 8% 6A 8 1638 5B1IA
816 FIFIF F | EERR | 2R 12200 | /120002 | F50.0.0.6 | 478 +6 HisE 57 472 -12 A¥EE 55 (B@® | 484 0 AL 57 @BD® | 484 -4 KiFE 55 @@ | 488 +4 AT 57 @O
(F7U—1) £ 71| B 12000 20002 | F/000.0.1 |2000m & B 2:02.1 34.9|1200m 2 B 1:10.2 34.0 | 1800m & B 1:55.5 37.8 | 1200m = # 1:10.7 34.4 | 1200m & & 1:11.7 36.1
55 CRATET) [#]]201.22 |[21.004 [|2Z20020 | ---vvn-- MMH 37.2-34.6 333 (13) | SSM 34.6-35.1 145 (1) | MMM 37.4-37.6 213 (4) | SSM 35 2-34.7 224 (1) | mss 34. 3-37.2 25 (2)
AmiEH 2488. 775 | #05£220i80 | £40.0.0.1 | smir 1013 | bk 490 (0.9)  EHE | Y 1-0247(0.5) EEE | 7-AHN (1.6 EHRE | o7 -0.8) ﬁﬁz N-370-R (0.2) EEH
Ly FRAR—F Ha [ 45 T . .. |B20000 | FM@00.1.0 [19.1228 5RO | 19.11.21 17 & EBEI_—TQ 11.07 15 F EE [ 19.06.29 23251 | 19.06 15 43 10 3®m5 |
W REIR/IS—A SEAH | B 454-468 | 5 0.0.0.0 | F 0000 | 1HEISR 1952 | C2— 3 2 Z3m 2 | REEF ﬂ;m REF REEF
57.0 .089| /r 56-57 | BRZ0.0.0.0 | F=0002 |13 168 5&ITA 1 10EE10% 2A A% 1 1088 6% 1A 14 1688 1% 3A B |4 163I3E 5N 4
8|17 aYA—ENYIT & | pExt INZ0.0.0.0 | FAON14 | 472 +4 SEEK 56 (5@ | 468 +14 FEEft 57 @D | 454 0 M 56 QB | 454 14 MK 56 BB | 468 +6 LLHK 56 @B
@y917" " 7" 3N80) £i% . 008| 3 12200 | EZ0.0.0.1 | F/00.0.0.1 | 1800m & B 1:57.7 40.9 | 1400m & B 1:29:9 38.4 | 1400m & B 1:31:2 39.3 | 1800m ¥ B 1:50.8 37.7 | 1600m = & 1:38.4 37.3
BIESHIS GOEMED [£] | 21.28 [F001.2 | £20.1.27 [ -0 SHM 38.0-39.3 152 (10) [ MMM 38.3-38.7 534 (2) | MMM 38.5-39.5 524 (2) | MMM 36.0-35.9 432 (15) | MSS 35.6-36.4 443 (9)
(B 99 bk 77-4 7557 152220580 | £472.0.0.1 | %8 1001 | 5vb obyvav(3.3)  EEE | dun' -2 (0.0) kEE | M9 IM-(-0.4) sEiBk | MEa-T-2.1) HEE | VATt 501 EEE
FisUFL H7[ 60 B #A: . : |&=20004 | F0.0.00 [20.01.19 49 BEMT/NAZ | 19.12.01 48 T 4dm2 | 19.11.12 36 * A3 | 19.10.19 48 T 4®m6 | 19.08.24 46 Tom /N A9
k=754 JIBE= | & 488-504 | ®Z0.1.0.7 |F 0000 | 1HEYTR 1#95% | 187 5 R 18952 | 7—INV R B2 | 1BV TR #3% | 187 5 X 8952
Eaind 57.0 .091| / 54-57 | BRZ0.1.0.8 | F=00.04 [16 185 5&I5A 117 1188 8&11A s+ |13 1638 9% 9A 7 NE1E A BM |9 188 4BIOA &
818 F—754 b=y = | #we NZ0.0.05 | F750.1.0.10 504 -8 #HJilE 57 @@ | 512 +2 &5 57 @O®® | 510 +10 & JIIF 57 500 -12 EEX 57 @@ | 512 +2 fR#k%E 54 BB
U BL | E®E .17 F££00.02 | F/N0.1.0.9 [ 1200n = T 1:11.6 36.1|1800m 4 B 1:55.7 30.4 | 1200m % # 1:14:8 38.0 | 1300m 4 7K 1:17.9 36.0 [ 1200m = B 1:09.3 34.5
F-THI5 (25T [#]] 2313 [%1.0010|2Z 13130 | - ®- -|SSS 33.8-36.3 154 (4) [ MMM 37.7-37.3 431 (11) | SSS 35.2-38.0 124 (6) | MHH 29.3-35.8 243 (5) | MSM 33.5-34.8 234 (6)
ETvE ) 3153.475 | #15£4%0580 | £41.0.0.9 | 58 0004 [ 7V (1.5) EEE | M2b-7 2.4 EE | Yh -Ia9ha(1.6)  EHE | 92509(1.2) ZkSE | IvANYL (1. 0) KEE
EP?EMOOmé#.t%ﬁWﬁ (SEEHHAR : 2018. 02. 27~2020. 02. 26) RETE e BB 3 ENE FEIVT/ 84 L REAEH
B HEUE WEER 1% 2% 3% A BE ENE ® F 00O (#& 1 2 3 456 7 8 @ %. 3538 EIF5AT 0
1 H474 A»— 55 5 6 5 39 0.091 0.200 |y @0® (3%ME) 1918111616 112021 th #: 11.6 i BHIE L 7 ootk
2 O—Fhya7 47 5 6 13 0.106 0.234 . Pl % % 34 Y 1
3 ATz 135 1 1 6 0.385 042 7 ®e % @OB® FAL: 1217 BUVR 2
4 Fa—TLuR L 5 3 3 9 40 0.055 0109 & @h® 5 0®
5 N—YsI54 39 3 2 72 0.077 0.128

. . S o TR 6, HHAOFGERL, HERGY, BTAHEE, $NTEMEERITOHBELLBMALTFEL,
2020/E2[29H () 1EIFPEIH 12R MR U S RamgL L 17 5 X GRA)  [EE] @it 1400m 2 - A B OEH, ERESECET,



